Friday 10th July 2020

To find the sum you need to add the numbers together.  E.g, 21 is  2+ 1 = 3
[bookmark: _GoBack]To find the difference you need to take away the numbers from each other so     17       7 – 1 is 6.. 
I have chosen the number 7 
This can’t be correct because the number need to be a 2-digit number.
I have chosen the number 11
This is a 2-digit number 
The sum of the digits is 2 so this number is incorrect. 
I have chosen the number 15 
It is a 2-digit number 
The sum of the 2-digits is 6 
The difference between the 2-digits is 4.
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I have chosen the number 17
The difference between the 2-digits is 8. This number is incorrect 
I have chosen the number 24. 
The number is less than 30. 
The sum of the 2-digits is 6 
This means the number in incorrect
I have chosen the number 28 
The number is less than 30 
The sum of the 2-digits is 10 
The difference between the 2-digits is 6
28 is the correct number.
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Deltective Oswald Looked for a number,

He found a two-digit number Less than 20,

The sum of it's digits was & and
the difference between them was g o
4. .
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What number did Oswald find?
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Detective Oswald Mallory was Looking for a
number,

He found a two digit number less
than 30, The sum of the digits
was 10 and the difference was 6,

What number did he find?
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Detective Oswald Looked for a number,

He found a two-digit number Less than 5o,
The sum of its digits was 12,
Their difference was 4.

What number did Oswald find?

Detective Oswald found a
two-digit odd number,
One of iks digits was
half the otker,

The number was greater
than $o,

What number did Oswald find?
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Detective Oswald Mallory was Looking for
a humber,

He looked ak all the numbers Less than 100,

He found a number where the
difference between the digits
was 3. the sum of the digits
was 11,

Which number did he find?

He Looked again at the umbers
under 100, He found a number
where ohe digit was three times
the other.

The number he found was greater than 50
and was odd.

Which number did he find?




